2.Przebudowa drogi gminnej nr 070440C w m. Blizienko.

Pik = 0+075,30 =0 N=100,38

Skala 1:100/100 T -
Nr PP = 4

PP. = 98,00

RZEDNE PRO, =2 g = o
RZEDNE KON, cgs g z=a
RZEDNE TEREN = g =
MDLEGLOSC % %ﬁ = § = §§ =

Pik = 0+135,90 T= 10040 N="100,61
Skala. 1:100/100 A
Nr PP =5

/1

PP. = 98,00

RZEINE PRI g g 5 B
RZEINE KNS, st g ot
RZEDNE. TEREN = g 5
IDLEGLOSCT = f§ = : a gf =

Pl = 0119420 Fea N 9952
Skalo 10/100 v

. —
Ne PP = 6

PP, = 97,00

RZEDNE PRI, ggg 2 ggg
RZEDNE KINS, ggg g ggg
RZEDNE TEREN g g =
ODLEGLDSCI = %ﬁE - §§§ =




